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Al
(1) fRE¥6, k¥ 2 (2) &1, kE1
(3) ¥ —1, R¥E4 (4) £RE -3, KE3

[EE2)
1) ¥ 2a, RE3  (2) FRE3bc®, JH2
(3) ¥ —6a, KE3

[##E 3]

(1) 4x%4+3x—1—-2x2—4x+6
=(4—-2)x24+(3—4)x+(—1+6)
=2x2—x+45

(2) 3a?—2ab—4b%—5a%+2ab—8b?
=(3—5a’+(—2+2)ab+(—4—8)b?
=—2a%—12p?

[#&E4)
1) 3x&A 2 4%xKX

[ E 5]

1) 3RR, EHE by’ +c

2 2R, EHEax*+c

(3) 3Rk, EEIHE

[EEe)

(1) (a+2)x+(4a®—3a)

@ 22+ (5y—3)x+(3y2—5y—2)

[EE7)

(1) A+B=(2x24+3x—1)+(42>—5x—06)
=2+4+4)x*+(3-5x+(—1-6)
=6x2—2x—7

A—B=(2x%4+3x—1)—(4x%2—5x—6)
=2x243x—1—4x245x+6
=2—9x*+(3+5)x+(—1+6)
=—2x24+8x+5

(2) A+B=(4x3—3x%2—2x+5)+(24°—3x2+7)
=(44+2)2°+(=3-3)x2—2x+(5+7)
=6x°—6x2—2x+12

A—B=(4x2—3x2—2x+5)—(24°—3x22+7)
=4x3—3x2—2x+5—2x%+3x2 -7
=(4-2)2°+(=3+3)x2—2x+(5-7)
=2x%—2x—2

(i8]

(1) A4+2B=(x24+4x—23)+ 2222 —x+4)
=x24+4x—3+4x2—2x+8
=(1+4)x*+(4—2)x+(—3+38)
=5x242x+5

(2) 2A—3B=2(x?+4x—3)—3(2x*—x+4)

=242+ 8x—6—6x2+3x—12
=(2—-6)x+(8+3)x+(—6—12)

=—4x*+11x—18
3) A+B+2A—-B)=A+B+2A—-2B
=3A-B

=3(x%+4x—3)— (222 —x+4)
=3x24+12x—9—2x24+x—4
=3-2)x*+(12+ Dx+(—-9—4)
=x2413x—13

[#EE9)

1) 2a*%x4a’=(2x4)X a**=8a’

2) 3x2yx(—2x4%y%)={3x(—=2)}x 223 x yl*?
— —6x5y?

(3) (—3x23)°=(—37x (22X %= — 2740y

[(#&E10]
(1) 4x%2x4%—3x+5)=4x2-242+4x%- (—3x)+ 4425
=8x4—12x%4 2042
2) 2x—1)(4x243)=(2x—1)-4x24+(22—1)-3
=8x3—4x2+4+6x—3
3) (2224 x—3)(x—2)
=222+ 2—3)x+ (222 +x—3)-(—2)
=243+ 22 —3x—4x>—2x46
=24°—3x2—5x46
4) (2x243)(x2—4x—1)
=(2x%4+3)x2 4+ (2224 3)- (—4x)+(22%24+3)-(—1)
=2x'+3x2—8x°— 124 —24%—3
=2x*—8x3 4+ x2—124—3

[&E11]

1) (#®+ax—1)(x+a)
=(x’+ax—1)x+(x*+ax—1)a
=x+ax’—x+ax’+a’x—a
=x2%4+2ax’+(a*—1x—a

2) (ax+b)cx+d)=(ax+b)cx+(ax+b)d

=acx®+ bcx+adx+bd
=acx’+(ad+bc)x+bd



